Rows 60, 62, 64: P10, k1.

Row 61: P1, mlr, k2, ssk, ké.
A N N E X Row 63: P1, k1, m1lr, k2, ssk, k5.

Row 65: P1, k2, mlr, k2, ssk, k4, m1r.

Written instructions to the Row 66, 68, 70: P11, k1.
Charts in Evolve Shaw/! Row 67: P1, m1r, k2, ssk, k7.
Row 69: P1, k1, m1lr, k2, ssk, ké.
R|G|.|T SP|NE 1 Row 71: P1, k2, m1r, k2, ssk, k5, m1r.
Rows 1, 3: P1 Row 72, 74,76: P12, k1.
Rows 2, 4: K1 Row 73: P1, mlr, k2, ssk, k4, k2tog, k2, m1l.
Row 5: P1, m1r. Row 75: P1, k1, m1r, k2, ssk, k2, k2tog, k2,
Row 6 to 10: P1, k1 mil k.
Row 11: P1, k1. mir. Row 77: P1, k2, mlr, k2, ssk, k2tog, k2, m1l,
k2, mir.

Rows 12, 14, 16: P2, k1.

Row 78: K1, p12, k1.
Rows 13, 15: P1, k2.

Row 17: P1, k2, m1r. L
FFT SPINE T

Rows 18, 20, 22: P3, k1.

Rows 1, 3: P1
Rows 19, 21: P1, k3.

Rows 2, 4: K1
Row 23: P1, k3, m1r.

Row 5: M11, p1.

Rows 24, 26, 28: P4, k1.

Row 25, 27: P1, k4.

Row 29: P1, k4, m1r.

Rows 30, 32, 34: P5, k1.

Rows 31, 33: P1, k5.

Row 35: P1, k5, m1r.

Rows 36, 38, 40: P4, k1.

Row 37: P1, mlr, k2, ssk, k2.

Row 39: P1, k1, m1r, k2, ssk, k1.
Row 41: P1, k2, m1r, k2, ssk, m1r.
Rows 42, 44, 46: P7, k1.

Row 43: P1, m1lr, k2, ssk, k3.

Row 45: P1, k1, m1r, k2, ssk, k2.
Row 47: P1, k2, m1r, k2, ssk, k1, m1r.
Row 48, 50, 52: P8, k1.

Row 49: P1, m1lr, k2, ssk, k4.

Row 51: P1, k1, m1r, k2, ssk, k3.
Row 53: P1, k2, m1r, k2, ssk, k2, m1r.
Rows 54, 56, 58: P9, k1.

Row 55: P1, m1lr, k2, ssk, k5.

Row 57: P1, k1, m1r, k2, ssk, k4.
Row 59: P1, k2, m1r, k2, ssk, k3, m1r.

Row 6 to 10: K1, p1.

Row 11: M1l, k1, p1.

Rows 12, 14, 16: K1, p2.

Rows 13, 15: k2, p1.

Row 17: M11, k2, p1.

Rows 18, 20, 22: K1, p3.

Rows 19, 21: K3, p1.

Row 23: M1l, k3, p1.

Rows 24, 26, 28: K1, pA4.

Rows 25, 27: K4, p1.

Row 29: M1l, k4, p1.

Rows 30, 32, 34: K1, pS.

Rows 31, 33: K5, pl.

Row 35: M1l, k5, p1.

Rows 36, 38, 40: K1, pé.

Row 37: K2, k2tog, k2, m1l, p1.
Row 39: K1, k2tog, k2, mll, k1, p1.
Row 41: M1l, k2fog, k2, m1l, k2, p1.
Rows 42, 44, 46: K1, p7.

Row 43: K3, k2tog, k2, m1l, p1.
Row 45: K2, k2tog, k2, m1l, k1, p1.



Row 47: M1l, k1, k2tog, k2, m1l, k2, p1.
Rows 48, 50, 52: K1, p8.

Row 49: K4, k2tog, k2, mll, p1.

Row 51: K3, k2tog, k2, m1l, k1, p1.
Row 53: M1l, k2, k2tog, k2, m1l, k2, pT.
Rows 54, 56, 58: K1, p9.

Row 55: K5, k2tog, k2, m1l, p1.

Row 57: K4, k2tog, k2, m1l, k1, p1.
Row 59: M1l, k3, k2tog, k2, m1l, k2, p1.
Rows 60, 62, 64: K1, p10.

Row 61: K6, k2tog, k2, m1l, p1.

Row 63: K5, k2tog, k2, m1l, k1, p1.
Row 65: M1l, k4, k2tog, k2, m1l, k2, p1.
Rows 66, 68, 70: K1, p11.

Row 67: K7, k2tog, k2, mll, p1.

Row 69: Ké, k2tog, k2, m1l, k1, p1.
Row 71: M1l, k5, k2tog, k2, m1l, k2, p1.
Rows 72,74, 76: K1, p12.

Row 73: M1r, k2, ssk, k4, k2tog, k2, m1l, p1.
Row 75: K1, m1l, k2, ssk, k2, k2tog, k2, m1l,

k1, pl.

Row 77: M11, k2, m1r, k2, ssk, k2tog, k2,
mill, k2, p1.

Row 78: K1, p12, k1.

RigHT Mam 1

Row 1: P1, mlr, k2, ssk, k4, k2tog, k2, m1l.
Rows 2, 4, 6: P12, k1.

Row 3: P1, k1, m1lr, k2, ssk, k2, k2tog, k2,
m1l, k1.

Row 5: P1, k2, m1lr, k2, ssk, k2tog, k2, m1l,
k2.

LEFT Main T

Row 1: M1r, k2, ssk, k4, k2tog, k2, m1l, p1.
Rows 2, 4, 6: K1, p12.

Row 3: K1, m1r, k2, ssk, k2, k2tog, k2, m1l,
k1, pl.

Row 5: K2, m1r, k2, ssk, k2tog, k2, m1l, k2,
pl.

RIGHT SPINE 24

Row 1: P1, mlr, k2, ssk, ké.

Row 2: P10, k1.

Row 3: P1, k1, m1r, k2, ssk, k5, m1r.
Rows 4, 6, 8: P11, k1.

Row 5: P1, k2, m1r, k2, ssk, k5.

Row 7: P1, k3, m1lr, k2, ssk, k4.

Row 9: P1, k4, m1r, k2, ssk, k3, m1r.
Rows 10, 12, 14: P12, k1.

Row 11: P1, m1lr, k2, ssk, k8.

Row 13: P1, k1, m1r, k2, ssk, k7.
Row 15: P1, k2, m1r, k2, ssk, k6, m1r.
Rows 16, 18, 20: P13, k1.

Row 17: P1, k3, m1r, k2, ssk, ké.
Row 19: P1, k4, m1r, k2, ssk, k5.
Row 21: P1, m1lr, k2, ssk, k9, m1r.
Rows 22, 24, 26: P14, k1.

Row 23: P1, k1, m1r, k2, ssk, k9.

Row 25: P1, k2, m1r, k2, ssk, k4, k2tog, k2,
m1l.

Row 27: P1, k3, m1r, k2, ssk, k2, k2tog, k2,
m1l, k1, mlr.

Row 28, 30, 32: P15, k1.

Row 29: P1, k4, m1r, k2, ssk, k2tog, k2, m1l,
k3.

Row 31: P1, mir, k2, ssk, k11.

Row 33: P1, k1, m1r, k2, ssk, k10, m1r.
Rows 34, 36, 38: P16, k1.

Row 35: P1, k2, m1r, k2, ssk, k4, k2tog, k2,
m1l, k2.

Row 37: P1, k3, m1r, k2, ssk, k2, k2tog, k2,
m1l, k3.

LEFT SPINE 2A

Row 1: Ké, k2tog, k2, m1l, p1.

Row 2: K1, p10.

Row 3: M1l, k5, k2tog, k2, m1l, k1, p1.
Rows 4, 6, 8: K1, p11.

Row 5: K5, k2tog, k2, m1l, k2, p1.
Row 7: K4, k2tog, k2, m1l, k3, p1.



Row 9: M1l, k3, k2tog, k2, m1l, k4, p1.
Rows 10, 12, 14: K1, p12.

Row 11: K8, k2tog, k2, mll, p1.

Row 13: K7, k2tog, k2, m1l, k1, p1.
Row 15: M1l, ké, k2tog, k2, m1l, k2, pl.
Rows 16, 18, 20: K1, p13.

Row 17: K6, k2tog, k2, m1l, k3, p1.
Row 19: K5, k2tog, k2, m1l, k4, p1.
Row 21: M1l, k9, k2tog, k2, m1l, pl.
Rows 22, 24, 26: K1, p14.

Row 23: K9, k2tog, k2, m1l, k1, p1.

Row 25: M1r, k2, ssk, k4, k2tog, k2, m1l, k2,

pl.

Row 27: M11, k1, m1r, k2, ssk, k2, k2tog, k2,

m1l, k3, p1.
Rows 28, 30, 32: K1, p15.

Row 29: K3, m1r, k2, ssk, k2tog, k2, m1l, k4,

pl.

Row 31: K11, k2tog, k2, m1l, p1.

Row 33: M1l, k10, k2tog, k2, m1l, k1, p1.
Rows 34, 36, 38: K1, plé.

Row 35: K2, m1r, k2, ssk, k4, k2tog, k2, m1l,

k2, pl.

Row 37: K3, m1r, k2, ssk, k2, k2tog, k2, m1l,

k3, pl.

RigHT MaIN 2

Row 1: P1, m1lr, k2, ssk, k8, k2tog, k2, m1l.
Rows 2, 4, 6,8, 10: P16, k1.

Row 3: P1, k1, m1lr, k2, ssk, ké, k2tog, k2,
m1l, k1.

Row 5: P1, k2, mlr, k2, ssk, k4, k2tog, k2,
m1l, k2.

Row 7: P1, k3, mlr, k2, ssk, k2, k2tog, k2,
m1l, k3.

Row 9: P1, k4, m1lr, k2, ssk, k2tog, k2, m1l,
k4.

LEFT MaIN 2

Row 1: M1r, k2, ssk, k8, k2tog, k2, m1l, p1.
Rows 2, 4, 6, 8, 10: K1, plé.

Row 3: K1, m1lr, k2, ssk, ké, k2tog, k2, m1l,
k1, pl.

Row 5: K2, m1lr, k2, ssk, k4, k2tog, k2, m1l,
k2, pl.

Row 7: K3, m1lr, k2, ssk, k2, k2tog, k2, m1l,
k3, pl.

Row 9: K4, m1r, k2, ssk, k2tog, m1l, k4, p1.

RIGHT SPINE 2B

Row 1: MIr.

Rows 2, 4, 6: K1.

Rows 3, 5: P1.

Row 7: P1, mlr.

Rows 8 to 12: P1, k1.

Row 13: P1, k1, m1r.

Rows 14, 16, 18: P2, k1.

Rows 15, 17: P1, k2.

Row 19: P1, k2, m1r.

Rows 20, 22, 24: P3, k1.

Rows 21, 23: P1, k3.

Row 25: P1, k3, m1r.

Rows 26, 28, 30: P4, k1.

Rows 27, 29: P1, k4.

Row 31: P1, k4, m1r.

Rows 32, 34, 36: P5, k1.

Rows 33, 35: P1, k5.

Row 37: P1, k5, mlr.

Rows 38, 40, 42: P4, k1.

Rows 39, 41: P1, ké.

Row 43: P1, m1lr, k2, ssk, k2, m1r.
Rows 44, 446, 48: P7, k1.

Row 45: P1, k1, m1r, k2, ssk, k2.
Row 47: P1, k2, m1r, k2, ssk, k1
Row 49: P1, k3, m1r, k2, ssk, m1r.
Rows 50, 52, 54: P8, k1.

Row 51: P1, k4, m1r, k2, ssk.

Row 53: P1, mlr, k2, ssk, k4.

Row 55: P1, k1, m1r, k2, ssk, k3, m1r.
Rows 56, 58, 60: P9, k1.

Row 57: P1, k2, m1r, k2, ssk, k3.
Row 59: P1, k3, m1r, k2, ssk, k2.
Row 61: P1, k4, m1r, k2, ssk, k1, m1r.
Row 62: P10, k1.



LEFT SPINE 2B

Row 1: M11.

Rows 2, 4, 6: K1.

Rows 3, 5: P1.

Row 7: M1l, p1.

Rows 8 to 12: K1, p1.

Row 13: M1l, k1, p1.

Rows 14, 16, 18: K1, p2.

Rows 15, 17: K2, p1.

Row 19: M1l, k2, p1.

Rows 20, 22, 24: K1, p3.

Rows 21, 23: K3, p1.

Row 25: M11, k3, p1.

Rows 26, 28, 30: K1, p4.

Rows 27, 29: K4, p1.

Row 31: M1l, k4, p1.

Rows 32, 34, 36: K1, p5.

Rows 33, 35: K5, pl.

Row 37: M11, k5, pl.

Rows 38, 40, 42: K1, pé.

Rows 39, 41: K4, pl.

Row 43: M1l, k2, k2tog, k2, m1l, p1.
Rows 44, 46, 48: K1, p7.

Row 45: K2, k2tog, k2, m1l, k1, p1.
Row 47: K1, k2tog, k2, m1l, k2, p1.
Row 49: M1l, k2tog, k2, m1l, k3, pl.
Rows 50, 52, 54: K1, p8.

Row 51: K2tog, k2, m1l, k4, p1.
Row 53: K4, k2tog, k2, m1l, p1.

Row 55: M1l, k3, k2tog, k2, m1l, k1, p1.

Rows 56, 58, 60: K1, p9.
Row 57: K3, k2tog, k2, m1l, k2, p1.
Row 59: K2, k2tog, k2, m1l, k3, p1.

Row 61: M1|, k1, k2tog, k2, m1l, k4, p1.

Row 62: K1, p10.

RIGHT SPINE 3
Row 1: P1, k3.

Row 2: P3, k1.

Row 3: P1, k3, mIlr.
Rows 4, 6, 8: P4, k1.

Rows 5, 7: P1, k4.

Row 9: P1, k4, m1r.

Rows 10, 12, 14: P5, k1.
Rows 11, 13: P1, k5.

Row 15: P1, m1lr, k2, ssk, kT,
Rows 16, 18, 20: P6, k1.
Row 17: P1, k1, m1r, k2, ssk,
Row 19: P1, k2, m1r, k2, ssk.
Row 21: P1, k6, m1r.

Rows 22, 24, 26: P7, k1.
Rows 23, 25: P1, k7.

Row 27: P1, k7, m1r.

Rows 28, 30, 32: P8, k1.
Row 29: P1, m1lr, k2, ssk, k4.
Row 31: P1, k1, mTr, k2, ssk,
Row 33: P1, k2, m1r, k2, ssk,
Rows 34, 36, 38: P9, k1.

milr.

k1.

k3.
k2, mlr.

Row 35:P1, k3, m1r, k2, ssk, k2.

Row 37: P1, k4, m1r, k2, ssk,
Row 39: P1, k5, mlr, k2, ssk,
Rows 40, 42, 44: P10, k1.
Row 41: P1, k6, m1r, k2, ssk.
Row 43: P1, m1lr, k2, ssk, ké.
Row 45: P1, k1, m1r, k2, ssk,
Rows 46, 48, 50: P11, k1.
Row 47: P1, k2, m1r, k2, ssk,
Row 49: P1, k3, m1r, k2, ssk,
Row 51: P1, k4, m1r, k2, ssk,
Rows 52, 54, 56: P12, k1.
Row 53: P1, k5, m1r, k2, ssk,
Row 55: P1, k6, mlr, k2, ssk,
Row 57: P1, mir, k2, ssk, k8,
Rows 58, 60, 62: P13, k1.
Row 59: P1, k1, m1r, k2, ssk,
Row 61: P1, k2, m1r, k2, ssk,
Row 63: P1, k3, mlr, k2, ssk,
Rows 64, 66, 68: P14, k1.
Row 65: P1, k4, m1r, k2, ssk,
Row 67: P1, k5, mir, k2, ssk,
Row 69: P1, k6, m1r, k2, ssk,
Row 60: P15, k1.

kl1.
mlr

k5, mlr.

k5.
k4.
k3, mlr.

k3.
k2.
mIlr.

k8.
k7.
ké, mir.

ké.
k5.
k4, mir.



LEFT SPINE 3

Row 1: K3, p1.

Row 2: K1, p3.

Row 3: M1l, k3, p1.

Rows 4, 6, 8: K1, p4.

Rows 5, 7: K4, p1.

Row 9: M11, k4, p1.

Rows 10, 12, 14: K1, pb5.
Rows 11, 13: K5, pl.

Row 15: M1l, k1, k2tog, k2,
Rows 16, 18, 20: K1, pé.
Row 17: K1, k2tog, k2, m1],
Row 19: K2tog, k2, m1l, k2,
Row 21: M1l, k6, p1.

Rows 22, 24, 26: K1, p7.
Rows 23, 25: K7, p1.

Row 27: M1l, k7, p1.

Rows 28, 30, 32: K1, p8.
Row 29: K4, k2tog, k2, m1],
Row 31: K3, k2tog, k2, m1l,
Row 33: M1l, k2, k2tog, k2,
Rows 34, 36, 38: K1, p9.
Row 35: K2, k2tog, k2, m1l,
Row 37: K1, k2tog, k2, m1l,

m1ll, p1.

k1, pl.
pl.

pl.
k1, pl.

m1ll, k2, p1.

k3, pl.
k4, pl.

Row 39: M1l, k2tog, k2, m1l, k5, p1.

Rows 40, 42, 44: K1, p10.

Row 41: K2tog, k2, m1l, k6,
Row 43: K6, k2tog, k2, m1],
Row 45: M1], k5, k2tog, k2,
Rows 46, 48, 50: K1, p11.

Row 47: K5, k2tog, k2, m1],
Row 49: K4, k2tog, k2, m1],
Row 51: M1, k3, k2tog, k2,
Rows 52, 54, 56: K1, p12.

Row 53: K3, k2tog, k2, m1],
Row 55: K2, k2tog, k2, m1l,
Row 57: M1l, k8, k2tog, k2,
Rows 58, 60, 62: K1, p13.

Row 59: K8, k2tog, k2, m1l,
Row 61: K7, k2tog, k2, m1],

pl.
pl.

mill, k1, p1.

k2, pl.
k3, pl.

mll, k4, p1.

k5, pl.
ké, pl.
mll, pl.

k1, pl.
k2, pl.

Row 63: M1l, ké, k2tog, k2, m1l, k3, p1.
Rows 64, 66, 68: K1, pl4.

Row 65: Ké, k2tog, k2, mll, k4, p1.
Row 67: K5, k2tog, k2, m1l, k5, p1.
Row 69: M1l, k4, k2tog, k2, m1l, ké, p1.
Row 70: K1, p15.

RigHT Man 3

Row 1: P1, mlr, k2, ssk, k12, k2tog, k2, m1l.
Rows 2, 4, 6, 8, 10, 12, 14: P20, k1.

Row 3: P1, k1, m1r, k2, ssk, k10, k2tog, k2,
m1l, k1.

Row 5: P1, k2, m1r, k2, ssk, k8, k2tog, k2,
m1l, k2.

Row 7: P1, k3, mlr, k2, ssk, ké, k2tog, k2,
m1l, k3.

Row 9: P1, k4, mir, k2, ssk, k4, k2tog, k2,
m1l, k4.

Row 11: P1, k5, m1r, k2, ssk, k2, k2tog, k2,
m1l, k5.

Row 13: P1, k6, m1lr, k2, ssk, k2tog, k2, m1l,
ké.

LEFT MaIN 3

Row 1: M1r, k2, ssk, k12, k2tog, k2, m1l, p1.
Rows 2, 4, 6, 8, 10, 12, 14: K1, p20.

Row 3: K1, m1lr, k2, ssk, k10, k2tog, k2, m1l,
k1, pl.

Row 5: K2, m1r, k2, ssk, k8, k2tog, k2, m1l,
k2, pl.

Row 7: K3, m1r, k2, ssk, ké, k2tog, k2, m1l,
k3, pl.

Row 9: K4, m1lr, k2, ssk, k4, k2tog, k2, m1l,
k4, p1.

Row 11: K5, m1r, k2, ssk, k2, k2tog, k2, m1l,
k5, pl.

Row 13: K6, m1r, k2, ssk, k2tog, k2, m1l, ké,
pl.



